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10.0m

(102+103+103+104)/4=103.0m

(112+112+112+112)/4=112.0m
Al
10m>10m > (112-103)=900m?3
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10000

7500

100000

7500

10000

10

m

1 3.8 5.0 1.2 100 120

2 2.5 5.0 2.5 100 250

3 2.5 5.0 2.5 100 250

4 2.5 5.0 2.5 100 250

5 2.5 5.0 2.5 100 250

6 2.5 5.0 2.5 100 250

7 2.5 5.0 2.5 100 250

8 2.5 5.0 2.5 100 250

9 2.5 5.0 2.5 100 250

10 2.5 5.0 2.5 100 250
190 3.1 5.0 1.9 100 190
191 2.9 5.0 2.1 100 210
192 2.7 5.0 2.3 100 230
193 2.5 5.0 2.5 100 250
194 2.5 5.0 25 100 250
195 2.5 5.0 2.5 100 250
196 2.5 5.0 2.5 100 250
197 2.5 5.0 2.5 100 250
108 2.5 5.0 2.5 100 250
199 2.5 5.0 2.5 100 250
200 3.8 5.0 1.2 100 120
20,000 136,370






